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Part I: Does the parabola point up or down?
1) y--x-3x+5 (I 2 y=x W 3 y-se-3x AWV

4) y=-5x*-3x+5 5) y=3x+5x° 6) y=-10x*-3.8x+500
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Part IT: Find the domain and range.
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Part II: Find the vertex using the formula.
b , :
Vertex Formula: x = —— , plug in to find y
2a P 9"‘ - = - 3
12 V=-% =0 0= b7 - | ax\ b= =7
1) y=2x*-8x-16 2) y=-2x*+4x-1 3) y=x°+14x+33
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Part ITII: Graph each parabola

1) y=-2x°+4x-1

Vertex: ’ ) @min? Direction: QL“(N W
‘(’(A‘,Q (0\[6 v x:%q
Domain: Qu QC” :H:ls

Axis of symmetry: X =
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2) y=4x°

Vertex: ( (J/ 0) max/ Direction: (A E
Axis of symmetry: X ;O Domain: OLH (@a( ‘H’ {5

y - intercept: CO /O> Range: KA) 2’ O
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